Spare Parls

BOMID Part# Description

1 DKS009-S-0.4 Index Encoder

2 MA252 SHSB, M3 x0.5x4 mm, @4 mm x 16 mm, SST >
3 CES064-B Corrosion Link ,ﬂ
4 DKS010-58 Corrosion Slider

5 MDO050-010 SHCS, M4x0.7 X 10 mm, SST

6 CESO053-R Corrosion Scanner Stabilizer

7 CES013 Tail

8 CES012 Urethane Wheel

9 CESO053-L Corrosion Scanner Stabilizer

10 DK0020 Dovetail Nut

11 BG0091 Cable Clip

12 DK0019 SHCS, M3 x 0.5 x 4.5 mm, 3 mm hex, SST

13 MA254 SHSS, M4 x 0.7 x 3 mm, flat point, SST

14 CEO0116 Index Nut

15 BG0090-75 Frame Bar with Ruler, 75 cm

Edmonton Office: 7809224534

Houston Office: 832.564.0626 = JIREH

Rotterdam Office: +31 85 002 0801




